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1. Tom is a 5 year old child with spastic diplegia. One day, he fell and injured his left 

ulnar nerve. Please compare the neural control between the weakness of his left 

hand and the spasticity presented in his legs. (16%) 

2. Please compare the roles of wrist extensors, long finger flexors, and the intrinsic 

muscles in grasping. (14%) 
3. In order to maintain an erect quiet standing posture, there are numbers of 

muscles participating in this activity. Please describe the muscular activity for the 

major joints (from bottom to top). {20%} 
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